" INTE | )
Cha'P"'Ei' \2 In-c‘zss PEOB!SIN\S, ‘ TOPIC ‘ | ‘

Ex. 5 A uniform lead sphere znd =z uniform Aluminum spher < have
the szme mass. Ra /Rrh =7 e = M —
Y
| AwrR’
N (% M
)rbf i 5 3 !/5_
=2 Rg}, — => ?px / \\ R Les
o = M ©al R 9/”'
J Al _"L 3 ’
_ F TRy = -
== i llld
- RM {” 3O \ = L& _
Rey  \ 2% 207
N .___.-—-\  — e _
|
Ex.)1O

A barrel contain g

a_ _0.120 w_\ayer of ol :F}azic'njq o watte
that is 0.250 m dee}p. o1/

3: ?res$ure = )Po’,,. 3 lﬂ =¢00_,qu_3_(4.3";{51> (O.JZOwD

B) Gauqe Pressure a'l' The bo'HoM o3 bArre)

ﬁ’- 2 Jndee only =09 b, = Loco i};(q,sms;) (0.250.:)
(P' > water = 2450 Pa P"Pilmac- :(?05.4 *21[50)!3;

(P )rpﬁc— = 315, Pa \
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Ex. ‘?‘ ) An esec;)-ncz[ skor'} c_u}-s 0; }ﬂwer +0 ! ,! ! d}v:nj ve)."‘cjc_’_‘
Arexz <o ?SMZ
—a Ne}t force = (P-P,)A = ma = (3 028XJ0 Bp)@ ¥5m) - 30@ N
\ A Net} force = 2 z?xm N
- .
ma 'PP B =B 9 h = (123x5°)(2.8)(30m) = 3.028x10° Pa
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Ex.29 An ore sample wefj\ns \#.660 N in =z=ir.
In water | completely submerged its _we_l:_?lof is 1l.20 N,

Find V, and 50 — —

TZ= ll;w N
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M—-\/w'_\/m

3
/ density=§ @ R = h000 kj/m
volume = \/ mg

LF <o ZFy =0

'lj_ma =0 T, +Fy —mg =0

T,rmj = PVa Tz": m%—ﬁ3 = ?Vj —P"i\/
T. = gV(p-p) } T - PP = - Su
T, = 3\] P T © P

P ~ 1000 kg/m>

Po = 1= Te o =

: = -/ - "% 50
{P = 2778 kg/m> 1
, m—— _ mg _ I%50N
B 2 9 = 2 V = [ 27?8,_1;{;5_(9.8m/5’>
m

N
-y 3 -3 3
= (.43 =
}V .43 10 m‘\ O.LH3 %10 m
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Ex .4 Water is -S'-\owinj in a2 pipe awnth a circdar cvos¢ sechoy
with varshnj cross-secHona| zre= _ .
a:S v="7 v - l /’k’ A=
A? V-. e — ip
Lz ) /
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Volume Rate= R = Ay, v= R = h20m/s - 15,98 m)¢
A T (0.150m)

b) V.= 3.80m[s  Find ry the mdivs.

- = constant R=A3V., =(T(' r:)v:.
Vac= R = L20mYs ri= 1,20 m/s
Trrzz 7'['( r:'x Tc (B.Q'DMIS)
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Ex. 42 A smza)l circular hde
A 2 - e
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P T _‘%L@ ?of\ >0 Po —
| ) A *
=l4.0m pa (‘I."V?-\ = = ©Va
J U I £ 4 P
h=14.0m .
V; = 2%‘1 V, = \{2(_9.9m/5’)»(ll-l.0m)
_ i 2 ié) P ~4 g
\K“‘*P’zfg'\“%%s?\ Vo = le. “"MlSJ— H.LEXID%,.

& 100 paw R=AV, = Tr'(a.oo)ll?? )M, o J
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Ex.¢0 || Ba\loonl'hj on Mars:

7
ﬁ#“ = 00,0154 kj_/m B

_P\as*-‘;c B2 Jloon g = 5'001/m2 “5“"£1CC mass “e"‘;*‘fr

Sugh 'ani' XFJ =0 S e

r= 35 = 3(5’”0—3“3/'%1) . = O.83FH m

) PZ"'M 0.0lf"’ kf/Mg
B b.) Released on Earth . zccelerakien = 2
Y F= ma F—-ma =ma a=i’;--°x
B Gy getligped
 FILK S AN—— T S 3 -
Q= m= 0 Arez 2 a I{J?,Pz'/r - %.
r(ﬁ‘ » _ — - ( up
a=|Jair)r — 1 % = | .92 9 = |753.8 m|s 1
| - d . '

_mass of (pstrument

(18 Hou) heaw, an ms+rumm7‘ packaqe if r—5r on Mars,

ZF)['-O Fg mg—'Mq—~ = M:—Féa-- m
M= Pata g %‘7‘(5"? - 0'4n(5'r) = [s.ac¢ les \

i -




